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F+ HEke
B FRE BEF/R R B i
1 JEsE ch 80.850 30.800 32.850 17.200
2 =i 73.100 26.700 31.600 14.800
3 EHten 72.350 27.100 30.150 15.100
4 Tt 68.650 24.700 31.500 12.450
5 el 66.000 23.450 30.000 12.550
6 SEMR DG 59.500 25.450 29.550 4.500
FT+ FEARE
T S B 5 BE | sis
1| XR ZHh m/\ i 38.050 13.050 13.150 11.850
2| 3 B iR 35.550 12.600 11.650 11.300
3| FE ER hES 34.850 11.100 12.700 11.050
4 B0 BHR HEmMT 34.650 12.000 12.250 10.400
5 = M BIIBE S 34.350 11.750 11.900 10.700
6] /R BRI ok A 34.250 11.950 11.850 10.450
¥ HERE
JE L FRA HBEBR B FigE S
1| {FEE=d 88.600 29.100 31.800 27.700
2 ZARY 83.950 29.150 26.800 28.000
3 EXoLs 83.300 28.750 29.100 25.450
4 Eadg 70.950 25.650 22.150 23.150
5 JEE 69.200 25.900 24.100 19.200
6 HEd 68.750] 27.600] 20.850|  20.300
Z1 EARE
JIE 32 4 K & FRA [ods B FEE K
1| KAREE X 39.950 13.200 13.950 12.800
2 ftH = EE—d 35.350 11.400 12.200 11.750
3| IR MX HEES 32.800 10.700 11.150 10.950
4 FRIE BH EX L 32.300 10.950 10.650 10.700
5 B HATE L 32.200 11.150 9.850 11.200
6| % Fik FEE—p 31.950 10.550 10.750 10.650
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I3z K & FRE fdt JIE 52§ K % ERE TR
1 FER ZH /\ e 13.050 1 FER Fh /\ i 11.850
2| 1 B ZiR# 12.600 2] B ZiR# 11.300
3] B KR BERTD 12.000 3| EE ER FES 11.050
4] I BERD S 11.950 4 =k M BIHEER P 10.700
5] FER BR FEE=op 11.800 5| SHWA PN L 10.450
6 = ME BIHEERP 11.750 5| MR ERID & T 10.450
BER FBFEE
JIE 52 K & ER L B= |
1 R % E/\i& 13.150
2| EE ER FEH 12.700
3] Wig K& = 12.500
4 B0 BR BEmT 12.250
5| FER BER R = 12.000
6 = M B+ 11.900
FEB L TBE FBEHB & TFK
JIE {3 B K & ERE #a | |EsY K % ERE x|
1| XAREHR A$EH 13.200 1| KABREH AP 12.800
2| EE —it Lk dan 11.700 2 tE = Sl — 11.750
3 FTH = S —rh 11.400 3| B &R AP 11.200
4 B /AR A$E 11.150 4 FEO (=S BRtk A 11.150
5| RIE BH EX LS 10.950 5| R B FEH 10.950
6] #IR X BEEH 10.700 6| RiIZ BN EXoL 10.700
AN ZFEHE
I3z 3 K & 2R B TR
1| KAREH AEEH 13.950
2 HhH = SiE—h 12.200
3| IR MX EES 11.150
4 AReA & FEB=rp 11.100
5 ZH FIR FEIF—p 10.750
5| 7XHE FirE FBB=rp 10.750




